
PMT

| 14.) Astudent states

“ifx° is greater than 9 then x must be greater than 3”

Determine whether or not this statement is true, giving a reason for your answer.
qa)

(ii) Prove that for all positive integers n,

w+3n?+2n

is divisible by 6

3)

(i) Te 2 es -we 4-5 tou x*=26 so x°>4
| Bubx is~Subt & Low kad,

Go He Shlewek & felce.

(ii) Facdorise n3+3n742n
m(m*+3n +2)
om la Cn+2).

Go +Hte gparerex prensa ts Hue Prodi2
3 cersecrhue rumbus.
Go ef these 2 numa ene & band to bea
radkhple & 2 ond arvettey & bod by lee a nultpfto
43. son:$o He vrnmbess nubleplied fogethe norsk bea


